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public class Box {
private static int box(nt;
private int 1i;
private int j;

public void print(String boxName){
System. out.println(String. format(
"%s: 1 = %d, j = %d, boxCnt = %d",
boxName,this.i, this.j, box(Cnt));
ks

public static void main(String[] args){
Box bl = new Box();
bl.print("bl");
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public Box(int ii, int jj){
this.i = 1i1;
this.j = jj;
box(Cnt++;
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Box bl = new Box(1,2);
bl.print("bl");
Box b2 = new Box(3,4);
b2.print("b2");
Box b3 = new Box(4,5);
b3.print("b3");
bl.print("bl");
b2.print("b2");

NTY ¥' Box 7¥ D'Y9IMN NYI7WUN TNX 73 112y .Y9Imn NITY7 0"ovon NITvn |2 71an% 27 mv
, N7, TN 72172 N T RIN boxCnt nTwN 19w 0'DYN DR W 0NN TRR 7071 ,j bwa nTwI i Dwa
73 7w n09TNa ,b3 7w NN ANKT P71 INIXR [TYN O'RIANN TRR 7D .17W TNXR YOI 71 0"y
.boxCnt 7w 7yn INIX DX 07270 D'V RN

S 7y e 19w Wi, ) DR Y 72y 'R Xt ANl a7 nnt 'xaa Ty 9'on ,nyd
| | | |
‘N2 'X12n DX l:|'OI|I7 X'N NJIYUXI NINWOKX

public Box(int ii){
this.i = ii;
this.j = 5;
boxCnt++;

}
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public Box(int ii){
new Box(ii, 5);

}
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Box b4 = new Box(14);
b4.print("b4");
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public Box(int ii){
this(ii, 5);
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